Math 152, Spring 2009, Formula Sheet for the Final Exam

sin(0) =0; sin(r/6) =1/2;  sin(x/4) =+/2/2; sin(n/3) =+3/2; sin(r/2) =1
cos(0) =1; cos(m/6) =+/3/2; cos(m/4) =+2/2; cos(n/3)=1/2; cos(n/2) =0

Cos2:1:+sin2:1::1; 1+tan’z =sec’z; 1+cot’z =csc’z

sin(2z) = 2sinzcosz ; cos(2r) = cos® x — sin® x
cos? r = %(1 +cos(2z)) ; sin’z = %(1 — cos(2x))
sin Acos B = %[SiD(A — B) +sin(A + B)]
sin Asin B = %[COS(A — B) — cos(A + B)]

cos Acos B = %[COS(A — B) + cos(A + B)]

/secwdm = In|secz + tanzx| + C ; /csca:dac =In|cscx —cotx| + C

If T, My, Sy are the Trapezoidal, Midpoint and Simpson’s approximations, then
Azx
Tn = T[f(ﬂco) +2f(z1) +2f(z2) + -+ 2f(xn-2) + 2f(xn-1) + f(zN)] ;
My = Aalf(er) + f(e2) + -+ flew)] where ¢; = (w1 +)/2
Ax

Sn = - [f(zo) +4f(21) +2f(w2) + 4f (w3) + - + 2f(xv-2) + 4f(an-1) + flan)] -
IfI:f;f(x)dx then:
Ky(b—a)? Ky(b—a)? K,(b—a)®
1 1) < B0 gy < B0l g gy < a0l

b
a

length = / V1+[f'(x)]?dz; surface area = 27r/ f@)/1+[f'(x)]?dx .

b
For parametric curves: length = / VI ()2 + [y (t))2 dt.

B 1 8
For polar curves: length = / VIFO2+[f(0)2do; area = 3 / r2 de.
f

The nth Taylor polynomial of f(z) with center ¢ is T),(x) = Z 1 (z —c)*
k=0 '
1 |z — C|n+1
If | f(»+1)(u)| < K for all u between ¢ and z, then |f(x) — Ty, (z)] < K CE]

(a=1) », ala=Da-2) ,

o1 i + - if |z < 1.

(1+x)a:1+ax+a



